
SAP ABAP table THMS_HEDGE_ITEM {Screen field structure for hedge item}

THMS_HEDGE_ITEM

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

CURRENCY [CUKY (5)]

PLANNER_ID [CHAR (13)]

EXPOSUREID [NUMC (5)]

T000

MANDT [CLNT (3)]

 THMS_HEDGE_ITEM-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 THMS_HEDGE_ITEM-BUKRS = T001-BUKRS 0..N

0..N
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 THMS_HEDGE_ITEM-CURRENCY = TCURC-WAERS 
0..N{0,1}

THMEXT_EXPOS

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

PLANNERID [CHAR (13)]

EXPOSUREID [NUMC (5)]

 THMS_HEDGE_ITEM-EXPOSUREID = THMEXT_EXPOS-EXPOSUREID 

0..N

1

THMEXT_PLANNER

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

PLANNERID [CHAR (13)]

 THMS_HEDGE_ITEM-PLANNER_ID = THMEXT_PLANNER-PLANNERID 

0..N

0..N


